N & 0 & AHS E A A

A JI=d2820
Fa: JZMEEH
SR Iz MEES MY (&g &

{0

JlzdEgeEz 38,228,704 34,348,711 3,879,993
= 33,886,955
s 134,797
Al 2,863,757
7 1,243,195
I zdEEH 27,383,481 24,531,430 2,862,051
= 24,212,755
s 134,797
Al 2,211,318
- 824,610
=M B 23,618,350 21,181,673 2,426,677
ES 21,133,700
Al 1,770,360
5 714,280
MABOH(EZ ML) 23,184,000 20,700,000 2,484,000
= 20,865,600
Al 1,622,880
T 685,520
301 EtE N = 23,184,000 20,700,000 2,484,000
= 20,865,600
Al 1,622,880
- 695,520
01 MBI EFE G S 23,184,000 20,700,000 2,484,000
O IWN=MSEELS I HELASA 23,184,000
= 20,865,600
A 1,622,880
- 695,520
LEIH(INHETIH) 11,038 8,488 1,550
308 AtXIEHH S0l & 11,088 9,488 1,550
08 WEI|HMUSEE 11,038 9,488 1,550
O IWNZ=MHEBHI N JXNSS0H u=
J1EO s BE(IHAAXEY) 11,038
HAZHMS O (BEAMY) 150,000 160,000 A10,000
= 135,000
Al 10,500
- 4,500
301 LBEAZ 150,000 160,000 210,000
= 135,000
Al 10,500
- 4,500
01 M2 E 463 150,000 160,000 210,000
O =D=M E& g oia, FHBH 150,000
= 135,000
Al 10,500
- 4,500
SHAEMZ O (M) (EXAY) 8,000 10,000 41,000
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BA:

g

SEE

IS~ 1 gban'y
Jlzdges
I ZHEEFMNY

i
40
o

- = 8, 100
Al 900
301 et N Z 9,000 10,000 A 1,000
= 8,100
Al 800
01 ALIBEE 62 9,000 10,000 21,000
O R =MESXLITH(AIY) olia ZFRZ
o} 9,000
= 8,100
Al 900
248 IZEEIH(EEZAY) 6,000 40,000 34,000
Al 6,000
301 LEENF 6,000 40,000 234,000
Al 6,000
01 A2 &= 256 = 6,000 40,000 A 34,000
O 248 J=EHE30 6,000
—ZHHA R Y 4,500
Al 4,500
—EII30 1,500
Al 1,500
+ZA & BSHdY(BEEAY) 48,000 23,000 25,000
Al 48,000
301 etE N 48,000 23,000 25,000
Al 48,000
01 M| BEE 26 S 48,000 23,000 25,000
O ==X & Esiiay] 48,000
Al 48,000
2% S XEH REHI(EEZAMY) 82,080 93,815 A11,735
Al 82,080
301 LBIEN = 82,080 93,815 211,735
A 82,080
01 M| B &= 56 S 82,080 93,815 A11,735
O =2k 8 XHHusH 82,080
Al 82,080
YD XF(BZAY) 125,000 114,000 11,000
= 125,000
301 et F 125,000 114,000 11,000
= 125,000
01 AL B &= 253 125,000 114,000 11,000
O I[WWIN=MEEFHFTN & UAANE R
orm Y| 125,000
= 125,000
QutMaEE AR F=XN 810 810 0
203 YR =&l 810 810 0

- 412 -




BA: JZMEEE
HH: JXMUEEHE

B9l I EMESEANY (B9 &E)
R EETEEET 810 810 0
O 422E Yex 900,000 * 0.9 810
zENY 2% 1,750 40,560 £38,810
201 YBrE | 1,750 1,560 190
02 23| 1,750 1,560 190
O1. 2222 2 HA 790
—~TSXM(BIIX &8) 130,000 * 1CH 130
—~NSXHEHI(MIIR £) 660,000 « 1H 660
O 4. xHg - dd&| 960
-~z 523 30,000 * 12 360
-2 SXNBAH(FIIT 28) 600
Fas SXZA AA 672 0 672
201 YErS | 672 0 672
02 ZZ2YH| 672 0 672
O1. 2223 2 NA 672
—SNEAE BEE MERS
50,000 * 1CH * 128 600
—HlaY SNE 6,000 * 128 72
HASHEO EXRAY 3,765, 131 3,339,757 425,374
=2 3,079,055
2 134,797
A 440,959
2 110,320
MEXAY J2 £ 810 810 0
203 YRETH| 810 810 0
03 NMZHYLETY| 810 810 0
O REXNAAY P2 £ 900,000 * 0.9 810
RED2A (DU ZMBREFLIT) (2EAY) 2,687,497 2,325,500 361,997
= 2,418,747
A 188,125
2 80,625
301 Bt A 2,667,497 2,325,500 361,997
2 2,418,747
A 188, 125
3 80,625
01 Sl BB =452 2,687,497 2,325,500 361,997
O 2CIZMEERLSA VEIZANAX 2,667,497
=2 2,418,747
A 188, 125
2 80,625
N XEHE KR (SEAY) 406,401 332,946 73,485
2 284,481
Al 121,920




SA:
B

=Lk

NEMSBED
Izdg:es
HASF0 TEXRAY

307 QI2t0| & 408,401 332,946 73,455
2 284,481
A 121,920
10 AISIETAEHERSHBR 406,401 332,946 73,455
O NeXsdE I 406,401
= 284,481
Al 121,920
KAREHE SANL HYEXSE(EXAY) 25,760 22,540 3,220
Al 25,760
307 RI2HOI A 25,760 22 540 3,220
Al 25,760
10 ABENANLHERHHER 25,760 22 540 3,220
O XNYXEHE SAMAL 2FA=EXE 25,760
Al 25,760
JAZEE 2R XYM (EBEAY) 192,567 238,492 A45,925
2 134,797
Al 28,885
- 28,885
308 AXSHEOA 192,567 238,492 ~45,925
s 134,797
Al 28,885
= 28,885
11 BIIBSOCHSZ AR 9| EL A H 192,567 238,492 245,925
O JtAIZHY 2520 AlY 192,567
2 134,797
Al 28,885
? 28,885
25 Y= +2X2 42 M (FYINESEHR | 39,525 90,604 251,079
AN EXAY)
2 32,857
Al 6,668
307 RIRLOIA 39,525 90,604 AB1,079
=2 32,857
Al 6,668
11 AFBIEXI A B E 39,525 90,604 251,079
O gAUISEE | A 39,525
= 32,857
Al 6,668
2RsE s 318 223 K (AUINSERI 31,151 176,841 A 145,690
AN EXAIY)
2 25,896
Al 5,255
307 IZHO| A 31, 151 176,841 A 145,690
=2 25,896
Al 5,255
11 ABIZEX A E X 31,151 176,841 A 145,690
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D olxMEsE
D) ZHERHE
D HASF0 GEI|AY

O BIYII2ER I A 31, 151
25,896
5,255
228 e =3 X8 B2 A 29,228 38, 146 8,917
ANEEAY)
24,298
4,931
307 212101 & 29,229 38, 146 28,917
24,298
4,931
11 AS =X A B X 29,229 38, 146 8,017
O WY3ISEx AY 29,229
24,298
4,931
2258 A= 22X 2432 31,595 42,336 10,741
AR (BEAY)
26,265
5,330
307 QI2H0| & 31,595 42,336 10,741
26,265
5,330
11 ASIEXAIEEX 31,595 42,336 210,741
O HHEYISER MY 31,595
26,265
5,330
D2s8 QU= £3XN0 43 XK (FEHHEAIA 163,037 43,542 119,495
ANEBEZAY)
135,533
27,504
307 212+0| & 163,037 43,542 119,495
135,533
27,504
1 ALBIEX A E R 163,037 43,542 119,495
O HEMSAHE AY 163,037
135,533
27,504
225 Ys 2219 242 NA(EYHSHH | 36,199 0 36, 199
A (EEAY)
30,092
8,107
307 QI2HO| & 36,199 0 36, 199
30,092
6,107
1 ABIEXIAIYE X 36,199 0 36,199
O BIYMEHE | AL 36,199
30,092

6,107




BA JI=MEgEEY
Fy: Jz=MEEHE
el HAS:el TEXIAd

D25 s 3N 243 N (HYHEAN 15,624 5,624
NENGEIT-D
= 12,988
Al 2,636
307 21240l & 15,624 0 16,624
2 12,988
Al 2,636
11 AZESXAEEX 15,624 0 15,624
O SIYNEAE I AL 15,624
2 12,988
Al 2,636
2258 Y= 43X 243 N (FHULREN 19,247 0 19,247
FARR) (RHAESI 0I5H (2 EALES)
= 16,000
Al 3,247
307 12t0| & 19,247 0 18,247
= 16,000
A 3,047
11 A=A EE 19,247 0 19,247
O BELILHENIAL (R4S 0I5t 19,247
2 16,000
Al 3,247
2258 Y= 4309 243 N (FHULREN 86,489 0 86,489
BAY) (RS ZTH(2EAL)
2 71,898
Al 14,591
307 2I2+01 ™ 86,489 0 86,488
= 71,898
Al 14,591
11 ASI=I AL EE 86,489 0 86,489
O HEALLMENIAY (RS ) 86,489
= 71,898
A 14,591
HASESE FHNEX2E 10,751,411 9,702,384 1,048,027
2 9,674,200
A 752,438
- 324,773
EAZT AL 10,751,411 9,702,384 1,049,027
2 9,674,200
A 752,438
2 304,773
EAZO(2ZAY) 10,749, 111 9,700,084 1,049,027
= 9,674,200
Al 752,438
2 302,473
301 YEHBEI 10,471,569 9,388,890 1,082,679
2 9,424,412
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2A:

B

Ilzdg2
HeEE FHEXZE

G EHETANY celixe)
T | o T Al 733,010 -
2 314,147
01 BB R S5 2 10,471,569 9,388,890 1,082,679
O 2O ZMEBHAST I EH20 10,471,569
2 9,424,412
Al 733,010
2 314,147
308 XM SOIN 277,542 311,194 A33,652
2 249,788
Al 19,428
2 8,326
1 BIBEHEIBAE A ALH| 277,542 311,194 233,652
O 248X20 271Y A2 277,542
2 249,788
Al 19,428
2 8,326
olflzEe ZelAY 2,300 2,300 0
201 Yt S| 2,300 2,300 0
02 222YH 2,300 2,300 0
O 1. 222 % HMA 300
—WHAS QU=e 2ARS 300
O 3. AIEEHISXH| 2,000
—HAS A= AL/ 2,000
HNPEAY (D ZMSRAD) 93,812 118,225 219,413
OlH Y| (I ZMEHEI) 19,496 19,469 27
Ol SYH|(J| =S BEI) 19,496 19,469 27
101 Qi Y] 19,496 19,469 27
03 2RI(PIAHL) 22 LS 18,496 19,469 27
O 230N £ 19,496
—AlTY 125,000 * 28 = 2% 3,000
—DEH| 125,000 * 28 * 128 3,000
—HEANZ 2,169,570 * 29 4,340
—J|gtgt 2,169,570 * 160/100 * 2& 6,943
— it A
2,889,640/209 * 8AIZ} * 102 * 2 2,213
JIBAHB(D=MEE A ) 74,316 93,756 A19,440
JIBAH (DI ZME 2R 74,316 93,756 A19,440
201 LBt gy 21,628 20,028 1,600
01 Al &2l 21,628 20,028 1,600
O 1. YeragH] 11,380
—2A2Y J=a8H 2,500
—d2 =R 420
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SN I EMBSE
Y HESAAH (IZMBSEI)
SE B ITIPIE STt (ers): &

o

TBSX 20,000 1B » 28] — 240
- XX 15,000 * 1Z = 128 180
—=2AEX 20,000 * 13082t A 2,600
—DRIE SX 22 5,860
- oRE U 250,000 * 8CH * 23] 4,000
2o DRIE Sl 340,000 * 444  13] 1,360
- TRIE 42| 500
O 5. 2=l 8,448
—JIEMEEEY MY S
8,000 * 22 * 44! » 128 8,448
O 6. xz 1,800
—= A 150,000 * 128 1,800
202 Of 44,352 66,528 A22,176
01 2LHOTHI 44,352 66,528 £22,176
O 2 EZoid|
20,000 * 222 » 142! * 128 * 0.6 44,352
203 P EAH| 4,200 4,200 0
04 SHSHHRETH| 4,200 4,200 0
O JEMEREY 350,000 * 128 4,200
405 KHAHE S| 4,136 3,000 1,136
01 HAYLSEH SH| 4,136 3,000 1,136
O Ha 160,000 * 27H 320
O =Y 2K 240,000 * 1224 2,880
O Jtalet meld 350,000 * 29H 700
O ABEAT 236,000 * 1CH 236
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